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PROBLEM3; (30 points)
A WHxI!isuﬁndlsnmlumnﬁGﬂhhﬁgmmmpmn
dead load is twice the live load. The column has full 1x

A beam frames m mid-height of the column in the weak direction bl in the Ragare, Use

A992 steel. What is the maximum service load £ that can hw
calculations. Use LRFD. !
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e design strength of an A36 steel member with o L # x ¥ % vy nection umnwl:nd
ihe Npure, Use LRFLD.

through each leg with 1 inch diameter bolts staggered an showi in
Provide a clear sketch on which vou are basing your caloulations and show all your work.

PROMLEM 2: (30 points)
AnI!ﬂlnng.MﬁmmemﬁhﬂhjmﬁMadﬂdhlduflﬂhpamdhwlmduf
60 kips in tension. Seimrmunaqmlleglnghhtmwmldmnmtﬂ:runghmmnf
m*dimmbulmasshuwnmﬁm Shnv.'ll];mn-wmk .'

p— e |

- '\-\.--a--'-"'

/Igieai‘.l Luéd [

l |
e
/ 7/ liveload

T
e




M




Sl O AT

4 = B=
| = =
-_.- “ -
- ] o
g i il = = o i
s - ; -\_.
y — — — b
: N e
| -— —— e M *
R
——

I
I
g -4
o s i

1
it i




e | Al s N _ = =F=%% _1{__1__ | =
’. .H‘;ile ! j=4—1 ot e N a -3
Mie Faz S8 Wi |

| F\f T | : i
P i Bokips SR RS TR

"?”?:“"’;' aerE

J.;"E r—?p. fr 'TL..-.
5 B A B e
| [',F.",... 3032 ¢




?ﬁn&4ﬂ¥¥3g

——

v G

b o L O

hJIQHfL;

1=

i 4
—t

i F? = ,5 ‘ﬂhin

IASIERESE

2ug\

3|

?

A

_H _.___... L]




RS
4.if ﬂ/c.f'hﬁ; =fo. ks ¥ = 'K I‘I'L“'i“"‘
gk g = ;
t:?,:f’ w 2D £ ). i m—
_dsisd 4 L20 ele{a2P). — |
p.=. ¥l | | | 11




Peter Salem 70164101
Youssef Badran 034572006

Charbel Kabbany 70507450




	Binder1_Page_1
	Binder1_Page_2
	Binder1_Page_3
	Binder1_Page_4
	Binder1_Page_5
	Binder1_Page_6
	Binder1_Page_7
	Untitled-1

